
What is 4,287 + 3,615?

7,902 7,812

7,902 8,002
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Calculate 9,999 - 5,473.

4,526 4,626

4,436 4,536

© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025



What is the sum of -7,500 and 9,200?

1,700 -1,700

16,700 -16,700
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Subtract -3,400 from 2,100.

5,500 -5,500

-1,300 1,300
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Find the value of 6,250 + (-8,000).

-1,750 1,750

-14,250 14,250
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What is 5,000 - (-4,500)?

9,500 500

-9,500 -500
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Compute 3,200 - 1,850 + 600.

1,950 2,050

1,850 2,150
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What is -8,300 + 5,700?

-2,600 2,600

-14,000 14,000
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Evaluate 7,000 + (-3,000) - (-2,000).

6,000 2,000

12,000 8,000
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What is 9,999 - 10,000?

-1 1

19,999 -19,999
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Calculate -6,400 - 2,500.

-8,900 -3,900

3,900 8,900
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What is 1,234 + 5,678?

6,912 6,812

7,912 6,902

© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025



Find 4,000 - 7,500.

-3,500 3,500

-11,500 11,500
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What is the result of -9,000 + (-1,000)?

-10,000 -8,000

10,000 8,000
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Compute 8,765 - 4,321.

4,444 4,344

4,544 4,434
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What is -5,555 + 3,333?

-2,222 2,222

-8,888 8,888
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Evaluate 6,000 - 3,500 + 1,500.

4,000 3,000

11,000 1,000
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What is 10,000 + (-7,500)?

2,500 -2,500

17,500 -17,500
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Calculate -2,000 - (-4,000).

2,000 -6,000

6,000 -2,000

© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025© The Maths Vault 2025



What is 3,333 + 6,667?

10,000 9,000

9,900 10,100
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